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1 0 2 1 0 -1 1 1 2 1 1 1
1 2 1 1 2 -2 1 2 3 1 2 4
3 m r t
r(t)=sinwti+coswt j+tk
I J, k X y z
(4
ma(sin ot +cos wt) ma(sin wt —cos wt)
Mma(Sin ot +tcoswt) Mma(sin wt —tcos wt)
o’ sin ot —w?sin wt
@ COoS wt —wCoSs wt
m 3 r t
r(t)=acosti+asint j+k E(t) i, j, k
X y z a
m(acosti+asint j+k)/2 m(acosti—asint j+Kk)/2
m(asinti+acost j+k)/2 m(asint i—acost j+Kk)/2
m(asint+acost+1)/2 m(asint—acost+1)/2
ma/2 ma’ /2
m X
3 F=-kv’i i X
k t=0 V=i
\ t
1 . 1 . -1 . -1
0= m1 0= et 0=t YO = im =

v(t) = (Zkt ) i ()= (%—Ji v(t) = [—+1j i v(t) = (——ji



m F
#(X,y,2) =cxyz n=Xi+Yy,]+zKk
F X I j, K x y z
CY,Z, —CYiZ CY,Z, /2 —CX\ Y17 /2
mcy, z, —mcy,z, —-mey,z,/2 mcy,z, /2
ot 0 X*
u(x,t) = Asin(k x — wt) Acw
kK=cw k=clw k=wlc k=clo’
k=Acw k=Ac/w k=Awl/c k=Ac/o’
n, n,
6 6,
N, C C,
n, sing, c _n n, sing, c, n
N, =—=— - T N, =—=- ’ P
n, siné, , N n, siné, , N,
n__sing, c, n’ n, siné, ¢, n’
N =—==—-—r =7 Np=—=="—"—"", =7
n, sing, c, n n, sing, c, n,
n, sing, c _n n, sing, c, n
n12:_:-— , _— == n12:_:-— , _=
n, sing, c, n n, siné, c, n,
n, siné, c, n’ n, siné, c, n’
n12=—= - , —:—2 n12=—= - . —:—2
n, sing, c, n n, sing, c, n,
1000[K] [3/(mol  K)]
2x107 [kg]
8 [J/(mol  K)] 6 x10% [/mol]
1x10" 2x10" 3x10* 5x10° 6x10"
7x10" 8x10* 9x10*



0.5 PV a- b- -

. a b T [K] U [J]
8 [J/(mol  K)] 6 x10% [/mol]
T =100K, U =300J T =100K, U =600J T =200K, U =300J T =200K, U =600J
T =300K, U =300J T =300K, U =600J T =400K, U =300J T =400K, U =600J
P [Pa]
a b
20
10 . .
V[m?]

10 2000[K] 200[K]
100[J]

8 [3/(mol  K)] 6 x10% [/mol]

10 20 30 40 50 60 70 80 90
11 C, N [mol]

Tl T2
[3/K]

JTZ 5C, T _(T5C, T nNnC, T _(=nC, T

T 2T T 2T T T

5C

nC 5C,(1 1 nC, (1 1
v _T v _T \2 _ v _
(T,-T) 5 (T,-T) 5 (—Tl —TZJ ( j
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) m
k T A
(1) (1Y% 1Y%
p(v) = Av (ij p(v) = Av [kT p(v) = Av (ij
1Y% (LY 1Y%
V)=Av|—| e V)=Av | —| e V)=Av|— | e
(V) (ij @(v) (kT @(v) (ij
13 (0,0) q[C] (0,0,6) [V]
&o,[F/m] [m]
_a _9 _ 9
10457 ¢, 207 &, 2057 ¢,
a4 __9 9
1057 &, 207 &, 2057 &,
14 I [A] ds[m]
R[m] dB[T]
Ho R[m] R
dB = 5! (deBj dB = “O'Z(dsxﬂj dB ”0'3(dsx5j
47 R R 47 R R A7 R R
dB=— (deB) = [ds 5) dB=— S(dSXBj
4r 1y R R 4 1y R R 4 1y R R
15
Q ds B[T] V[V]
V=[B-ds V=-B-dS v-4B.gs V:—EJ.BdS
o dtJe d
2 d dS 3
V=—r[B-dS V=-——[B.dS V=—r[B-ds V=--z[B-dS
t2 Jo dt? Jo di® Je di® Je
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p[C/m?] &,[F/m]
1o[H/m] E[V/m] B[T] i [A/m?]
div(E/g)=p divB = g, rotE :—yO% rotB:gOEeroi
ot
div(g,E)=p divB=0 rotk = —%3 rotB =g, ,uoa—E+,uo i
ot
.21
17 z E,[V/Im]=E, sm(72—27zvt)
. 2T
B,[T]=B, sm(T z-2nvt) A[m] v[1/s] t[s]
E [V/m] Bo[T]
&,[F/m] Ho[H/m]
0°E, ., & 0°E, ., OE 0°E, _ ., O
o2 ot ot oy? ot ot 272 ot at
0°B, 0°B, 9°B, 0°B, 9°B, 0°B,
2 GoHo 75 2 oo 7 2 foto 7
OX ot oy ot 0z ot
18 -V [n/s]
1 -V
[m/s] p=vlc
1 1 -7
1-p 1- 32
1-p?
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W -hv

(hv)? W2
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N|PF

N

hy -W
(hv)® +W?

Sl

h[Js]

hyv +W
hv? -W

v[Hz]

W? —(hv)?
hy +W

W[J]



